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Example Dialog
(A) Because she is always late.
(B) Because the movie will start soon.
(C) Because the busy roads may delay them.

(D) Because the man will not wait any longer.

Dialog 1

49. (A) 12:00. (B) 1:00. (C) 3:00. (D) 4:00.

Dialog 2

50. (A) Thailand. (B) New Zealand. (C) Australia. (D) Bali.



Dialog 3

51. (A)
©
Dialog 4
52. (A)
(B)
©
(D)
Dialog 5
53. (A)
©
Dialog 6
54. (A)
©
Dialog 7
55. (A)
©
Dialog 8
56. (A)

(©)

The music. (B) The story.

The acting. (D) The special effects.

The city council refused to give permits to taxi drivers.
Taxi drivers protested against the city council.
Traffic was stopped for the entire day.

The city council stopped taxis entering the station.

His computer screen was broken. (B) His battery had no power.

His password was wrong. (D) His hard drive was damaged.
He got lost in the airport. (B) He couldn’t find the check-in counter.
His train was delayed. (D) He forgot his passport.

On Friday. (B) On Saturday.

On Sunday. (D) On Monday.

By bus. (B) By the City Line.

By the City Line and Metro Line. (D) By taxi.



Dialog 9

57. (A) Blue. (B) Yellow. (C) Gray. (D) Red.
Dialog 10
58. (A) 6:00a.m. (B) 8:00a.m. (C) 9:00a.m. (D) 10:00 a.m.
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Passage 1
59. How many tables will the guests be seated at for lunch?
(A) One. (B) Two. (C) Three. (D) Four.

60. On what date is this conversation taking place?

(A) August 10th. (B) August 11th.

(C) August 12th. (D) August 14th.

Passage 2

61. To get to the zoo, the woman says that they will need to spend ( ) driving on
local roads.

(A) one hour (B) one and a half hours

(C) two hours (D) two and a half hours

62. It will be ( ) for each of the man’s parents to enter the zoo.

(A) $20 (B) $10 (C) $5 (D) free



Passage 3

63. The man explains that he became a fisherman because ( ).
(A) his father was working as a fisherman

(B) he couldn’t imagine doing another job

(C) it was the only job he was able to get

(D) he thought that boats were wonderful

64. The man says one difficult thing for him as a fisherman was ( ).
(A) being away from family (B) not having any friends
(C) repairing the boat engine (D) using the radio

65. The thing that the man has always enjoyed most about being a fisherman is

( ).
(A) the money he earns (B) the work is never the same
(C) the feeling of being outdoors (D) the work keeps him fit
Passage 4

66. What time are the doors scheduled to be opened?

(A) 6:00. (B) 6:30. (C) T7:00. (D) 7:30.
67. When did Jason Mraz last give a concert in Japan?

(A) Five years ago. (B) Four years ago.

(C) Three years ago. (D) Two years ago.

68. How did the man manage to get the tickets?

(A) He got them from a friend. (B) He won them in a contest.

(C) He ordered them through Facebook. (D) He bought them from an agent.
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